
   CF Moto ZForce 950 Windshield Instructions 
             SKU: ZL -ZF950-WS   For: ZForce 950 Windshields (Not HO model)  

Step 1.  Place the hook clamps on the roll cage in the approximate 
positions.  They can be hard to put on so make sure to push them on all 
the way. 

Step 2. Place the windshield on the machine and make sure the holes line 
up with the clamps. 

Step 3.  Bolt the windshield to the clamps 
using the ¾” Bolts.  Use a washer and lock 
washer on each bolt. Don’t tighten the 
bolts until you have each one started in the 
clamps. 

 

Step 4.  Once each bolt has been started, 
tighten all the bolts until snug.  Don’t over 
tighten the bolts. 

 

 

 

   CF Moto ZForce 950 Windshield Instructions 
             SKU: ZL -ZF950-WS   For: ZForce 950 Windshields (Not HO model)  

Step 1.  Place the hook clamps on the roll cage in the approximate 
positions.  They can be hard to put on so make sure to push them on all 
the way. 

Step 2. Place the windshield on the machine and make sure the holes line 
up with the clamps. 

Step 3.  Bolt the windshield to the clamps 
using the ¾” Bolts.  Use a washer and lock 
washer on each bolt. Don’t tighten the bolts 
until you have each one started in the 
clamps. 

 

Step 4.  Once each bolt has been started, 
tighten all the bolts until snug.  Don’t over 
tighten the bolts. 

 

 

Hardware Kit 
QTY ITEM 

4 Billet Hook Clamps  
4 3/4" X 1/4-20 Black SS Bolts 
4 1/4" Flat Washers Black SS 
4 1/4" Lock Washers Black SS 

Hardware Kit 
QTY ITEM 

4 Billet Hook Clamps  
4 3/4" X 1/4-20 Black SS Bolts 
4 1/4" Flat Washers Black SS 
4 1/4" Lock Washers Black SS 


